
 
Product Information Packet 

P14G7701 
.5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 2 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

Part Detail

Revision: M Status: NLA/A Change #: Proprietary: No

Type: AC Prod. Type: 0520M Elec. Spec: 05WGW461 CD Diagram: CD0006

Enclosure: TENV Mfg Plant: Mech. Spec: 05E276 Layout: 05LYE276

Frame: 143T Mounting: F1 Poles: 06 Created Date: 05-29-2007

Base: RG Rotation: R Insulation: F Eff. Date: 06-03-2013

Leads: 3#18 Replaced By:

Literature: Elec. Diagram:

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 3 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

Nameplate NP2133

CAT.NO. P14G7701
SPEC. 05E276W461G1

HP .5
VOLTS 460

AMP 1
RPM 1150

FRAME 143T HZ 60 PH 3
SER.F. 1.15 CODE K DES B CL F

NEMA-NOM-EFF 80 PF 63
G.MIN.EFF 77.0 CC

RATING 40C AMB-CONT
DE 6205 ODE 6203

ENCL TENV SN

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 4 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

Nameplate NP2113E

SPEC. 05E276W461G1
MOTOR WEIGHT 61 # OF ROTOR BARS 27

GREASE POLYREX EM
MAX. KVAR .35 # OF STATOR SLOTS

BLANK P14G7701
HTR-VOLTS N/A HTR-AMPS N/A

MAX. SPACE HEATER TEMP. N/A

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 5 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

Parts List

Part Number Description Quantity

SA158243 SA 05E276W461G1 1.000 EA

RA146895 RA 05E276W461G1 1.000 EA

S/P107-000-001 SUPER E PROC'S-FS, WS & CK PLTS 1.000 EA

HW3201A05 3/8-16 EYEBOLT 1.000 EA

06CB1001A01G CONDUIT BOX, MACH GRAY 1.000 EA

RM1016 LEAD SEPARATOR GASKET - 305/306 C.P.MOTO 1.000 EA

10XN2520A12 O1/4-20X 3/4 HEX HEAD CAP 2.000 EA

HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 I 2.000 EA

11XW1032G06 10-32 X .38, TAPTITE II, HEX WSHR SLTD U 1.000 EA

HW3001B01 BRASS CUP WASHER, FOR #8 SCREW 1.000 EA

10XN2520S06 1/4 20X3/8 HX HD CAP S.S. 2.000 EA

WD1000B16 T&B CX70TN TERMINAL 2.000 EA

35EP1100B99G FREP TENV 203,GRSR,RLF, .25-28 DRAIN 1.000 EA

HW4500A01 1641B(ALEMITE)400 UNIV, GREASE FITT 1.000 EA

HA4051A00 PLASTIC CAP FOR GREASE FITTING 1.000 EA

HW4500A17 317400 ALEMITE GREASE RELIEF 1.000 EA

HA4010A01 DRAIN PLUG,416 S.S.,W/ 1/4-28 THD & .076 1.000 EA

HW5100A03 WAVY WASHER (W1543-017) 1.000 EA

05EP1100A01G PUEP ENCL 205,BRG RET,GRSR,RLF,DRAIN FIT 1.000 EA

HW4601A22 INPRO SEAL, 205 BRG, VBX 1.000 EA

HW4600B36SP V-RING SLINGER 1.188 X 1.690 X .24 VITON 1.000 EA

HW4500A01 1641B(ALEMITE)400 UNIV, GREASE FITT 1.000 EA

HA4051A00 PLASTIC CAP FOR GREASE FITTING 1.000 EA

HW4500A17 317400 ALEMITE GREASE RELIEF 1.000 EA

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 6 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

Parts List (continued)

Part Number Description Quantity

HA4010A01 DRAIN PLUG,416 S.S.,W/ 1/4-28 THD & .076 1.000 EA

51XN1032A20 10-32 X 1 1/4 HX WS SL SR 2.000 EA

HA3100A37 THRUBOLT 10-32 X 8.500 4.000 EA

XY1032A02 10-32 HEX NUT DIRECTIONAL SERRATION 4.000 EA

06CB1503A01G LIPPED CONDUIT BOX LID, MACH GRAY EPOXY 1.000 EA

06GS1009 GASKET, KOBX LID, 1/8" THICK BLACK NEOPR 1.000 EA

10XN2520A12 O1/4-20X 3/4 HEX HEAD CAP 2.000 EA

HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 I 2.000 EA

HW2501D13 KEY, 3/16 SQ X 1.375 1.000 EA

HA7000A01 KEY RETAINER 7/8" DIA SHAFT 1.000 EA

MJ5001A27 32220KN GRAY SEALER  *MIN BUY 4 QTS=1GAL 0.001 QT

MJ1000A73 INPRO P-80 ASSEMBLY LUB./ 1 QT. CONTAINE 0.001 QT

85XU0407S04 4X1/4 U DRIVE PIN STAINLESS 4.000 EA

LB1002N LABEL,MARINE DUTY (ON ROLLS) 1.000 EA

LB1115N LABEL,LIFTING DEVICE (ON ROLLS) 1.000 EA

LT0019A00 MOTOR NO-LOAD PERFORMANCE DATA SHEET 1.000 EA

WD1000D21 TRM,T&B #B71M,RING,18-14,.25,NON-INSL 3.000 EA

MJ1000A02 GREASE, POLYREX EM EXXON (USe 4824-15A) 0.050 LB

MG1025N19 PAINT, 778.50 WILKO, RELIANCE ELEC GREEN 0.022 GA

LB1119N WARNING LABEL 1.000 EA

LB1172A01 CUSTOM MTR CARTON LABEL  LASER PRINTER 1.000 EA

NP2133 IEEE 841, SS, CSA UL CC, W/O NEMA REV MT 1.000 EA

NP2113E SS IEEE841 AUX DATA INFORMATION SURFACE 1.000 EA

36PA1000 PKG GRP, PRINT       PK1016A06 1.000 EA

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 7 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

No performance data has been
assigned to this product.

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 8 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/


Page 9 of 9                                

                                                                  Product Information Packet: P14G7701 - .5HP,1150RPM,3PH,60HZ,143T,0520M,TENV,F1

                                                                     

 

D
ealers In

d
u

strial Eq
u

ip
m

en
t -- V

isit h
ttp

s://D
ealersElectric.co

m
  o

r call (9
0

8
) 6

8
8

-1
9

6
6

 fo
r all o

f yo
u

r electric m
o

to
r &

 V
FD

 n
eed

s! 

https://dealerselectric.com/

